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Solving Sequence

6,10>11—>7—>8—>14—>5—>2—9— 3 —> (C2,C4,C8
C10 Ce cr C11 Cs C1 C9 C3

A knot diagranﬂ
Ideals for irreducible component#ﬂ)f Xpar
It = (—5u® —9u™® 4 b+ 4, 3u +4u*® 4+ 420 -1, W0 +3ut - 9 1)

Iy =(ba*—a+1,u—1)

* 2 irreducible components of dim¢ = 0, with total 52 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I} =
(—5u*® —9u*®+...+b+4, 3ut®+4ur+..-+2a—1, v +3ut®+..-+9u%—-1)

(i) Arc colorings

—§u49—2u48+-~-+;u+;>

G4 = 5utd +9ut® .+ 4u—4
w4yt -y 1

as = \ —u!® + 6ult + .- — 6u? + 4u?
gu‘ngr4u48+'-'+lufl

ap= \ 210 s 1,04
2 2 2
ub — 3ut +2u? + 1

ag = ub — 2ut + u?
—Jut —8ut 4. — 2y + 2

az = \ —2u* —3u*® +... —8u? +1
—%u49—8u48+~~-fgu+g

az = \ —2u* —3u®® 4+ ... —8u? +1

(ii) Obstruction class = —1

(iii) Cusp Shapes = —18u*? — 27u*® 4 ... — 2u + 25



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy W0+ 2+ —3u+1
C2,Cs w18+ w1
c3,C8 w4+ ut 4+ du—4
Cg, C10, C11 WO+ 3+ 4921
c7,Co u? — 15u® + .- — 104u + 16




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€15 ¢ g0 + 18y + - +y+1
2,5 v +30y% + - — 119y + 1
€3, C8 y°0 — 159" + ... — 104y + 16
C6, €105 C11 yP0 —41y® 4. — 18y + 1
er, Cy y°0 +37y% + ... — 3360y + 256




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol ++/=1CS) Cusp shape
u=1.087890 + 0.1653281
a= 0.139852 —0.2132117 1.40881 + 0.774001 6.94609 4 0.1
b= 0.645187 — 0.2897281
u= 1.087890 — 0.1653281
a= 0.139852 4 0.2132117 1.40881 — 0.774001 6.94609 4 0.1

b= 0.645187 + 0.2897281

uw=0.126757 + 0.8683561
a = —1.47159 — 0.942781
b= —1.22103 — 1.336621

—2.73323 + 9.520651

5.03643 — 7.698571

uw= 0.126757 — 0.8683561
a = —1.47159 + 0.942781
b= —1.22103 + 1.336621

—2.73323 — 9.520651

5.03643 + 7.698571

uw=0.133262 + 0.8311701
a= 1.011800 + 0.4743921
b= 0.865719 + 1.0205701

—1.38173 + 4.043071

7.01868 — 3.202651

uw=0.133262 — 0.8311701
a= 1.011800 — 0.4743921
b= 0.865719 — 1.0205701

—1.38173 — 4.043071

7.01868 + 3.202651

uw=1.096200 + 0.3887711

a = —0.323801 — 0.6267721 1.57629 + 0.364861 0
b= 0.168381 + 0.4062701
uw=1.096200 — 0.388771]
a = —0.323801 + 0.6267721 1.57629 — 0.364861 0

b= 0.168381 — 0.4062701

uw=0.047274 + 0.8353221
a= 0.00341 — 1.470711
b= —-0.19335 — 1.778741

—7.20082 + 2.988681

0.09209 — 2.995031

uw= 0.047274 — 0.8353221
a= 0.00341 + 1.470711
b= —0.19335 4 1.778741

—7.20082 — 2.988681

0.09209 + 2.995031




Solutions to I} V—1(vol + v/—1CS) Cusp shape
= 1.136100 + 0.4438891
= 0.860244 + 0.8263107 0.35735 — 4.829971 0
= 0.311641 — 0.7592361
= 1.136100 — 0.44388971

0.860244 — 0.8263107 0.35735 4 4.829971 0

0.311641 + 0.7592361

—0.039568 4 0.7765821
1.63186 — 0.951201
0.93537 — 1.486721

—3.45504 — 3.620761

3.32917 + 2.610981

—0.039568 — 0.7765821
1.63186 + 0.951201
0.93537 + 1.486721

—3.45504 + 3.620761

3.32917 — 2.610981

0.566666 + 0.5306761
1.15612 4+ 0.896581
0.785797 +0.1918411

3.39308 — 0.604831

12.63177 — 0.836221

0.566666 — 0.5306761
1.15612 — 0.896581
0.785797 — 0.1918411

3.39308 + 0.604831

12.63177 + 0.836221

0.490724 + 0.5892001
—0.95926 — 1.356441
—0.676569 — 0.4170651

3.13688 4 4.701141

11.25136 — 7.354521

0.490724 — 0.5892001
—0.95926 + 1.356441
—0.676569 4 0.4170651

3.13688 — 4.7011471

11.25136 + 7.354521

—1.260390 + 0.0784611

= —0.689828 — 0.5744081 2.80671 — 3.205501 0
= 0.592579 — 0.2327341
= —1.260390 — 0.0784611
= —0.689828 + 0.5744081 2.80671 + 3.205501 0

> Q& €| & €|l & €| Q& €| &) Q@ 8| Q@ €|l & €|l & €| & &
I

0.592579 + 0.2327341




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.015463 + 0.7349781
—0.963235 + 0.3056031
—0.523840 4 1.0319801

—1.96381 + 1.496411

5.67052 — 2.838511

0.015463 — 0.7349781
—0.963235 — 0.3056031
—0.523840 — 1.0319801

—1.96381 — 1.496411

5.67052 4 2.838511

—1.241070 + 0.3246951

U
a

b

U

a

b

U

a = —0.822795 4 0.7830891 0.243412 — 0.3505361 0
b= 10.089700 — 0.7691591

u = —1.241070 — 0.3246951

a = —0.822795 — 0.7830891 0.243412 + 0.3505361 0
b= 0.089700 4 0.7691591

u = 1.224770 + 0.3850241

a= 0.859798 — 0.298010I | —3.57195 + 1.396881 0
b= —0.74436 — 1.635981

u= 1.224770 — 0.3850241

a= 0.859798 4 0.298010I | —3.57195 — 1.396881 0
b= —0.74436 + 1.635981

u= 1.274810+ 0.3068011

a= 0.023714 4 0.6982941 1.95830 + 2.255361 0
b= 216911+ 1.119021

u= 1.274810 —0.3068011

a= 0.023714 — 0.6982941 1.95830 — 2.255361 0
b= 216911 — 1.119021

u = 1.311800 + 0.0248581

a= 0.171282 — 0.9134571 5.15830 4 2.674681 0
b= 0.44051 — 2.728771

u = 1.311800 — 0.0248581

a= 0.171282 4 0.9134571 5.15830 — 2.674681 0
b

0.44051 + 2.728771




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —1.32705
a= 0.308792
b= —1.01507

5.84071

u = —1.290930 + 0.3139691
a= 0.384785 — 0.3544501
b= —0.676082 + 0.5342711

2.12444 — 5.288181

u = —1.290930 — 0.3139691
a= 0.384785 + 0.3544501
b= —0.676082 — 0.5342711

2.12444 4 5.288181

u= 1297340 + 0.3374321
a= 0.180485 — 1.1007201
b= —2.31845 — 1.851461

0.72091 + 7.641321

u= 1.297340 — 0.3374321
a= 0.180485 4+ 1.1007201
b= —2.31845 + 1.851461

0.72091 — 7.641321

u = —1.302710 + 0.3730851
a = —0.869978 — 0.3692911
b= 1.05915 — 1.456751

—2.98615 — 7.330401

u = —1.302710 — 0.3730851
a = —0.869978 4 0.3692911
b= 1.05915 + 1.456751

—2.98615 + 7.330401

u = —1.352760 + 0.3629961
a= 0.035493 4 0.7352381
b= —2.06776 4 0.996911

3.29225 — 8.344391

u = —1.352760 — 0.3629961
a= 0.035493 — 0.7352381
b= —2.06776 — 0.996911

3.29225 +- 8.344391

u = —1.356030 + 0.3827071
a = —0.148346 — 1.1139001
b= 2.30162 — 1.445691

1.9302 — 14.01311




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —1.356030 — 0.3827071
a = —0.148346 + 1.1139001
b= 2.30162 + 1.445691

1.9302 4 14.01311

u = —1.41586 + 0.111717
a = —0.068754 4 0.8640411
b=—-1.19732 + 1.438911

9.73666 — 1.345701

u = —1.41586 — 0.111711
a = —0.068754 — 0.8640411
b= —1.19732 — 1.438911

9.73666 + 1.345701

u = —1.41536 + 0.146411
a = —0.125925 — 0.9993571
b= 10.70733 — 1.720911

9.27302 — 7.099271

u = —1.41536 — 0.146411
a = —0.125925 4 0.9993571
b= 0.70733 4 1.720911

9.27302 4 7.099271

u = 0.104654 + 0.4323241
a = —0.39489 — 1.388671
b = —0.504003 — 0.0643521

—1.18724 + 1.583101

1.45548 — 5.777981

u = 0.104654 — 0.4323241
a = —0.39489 + 1.388671
b = —0.504003 4 0.0643521

—1.18724 — 1.583101

1.45548 + 5.777981

u= 0.375797
a = —0.231356
b= 0.443920

0.739246

14.0540

u = —0.263398 + 0.0994451
a = —0.15916 — 3.773301
b= —0.163758 — 0.6576601

0.39231 — 2.259291

1.99740 + 3.426451

u = —0.263398 — 0.0994451
a = —0.15916 + 3.773301
b= —0.163758 4 0.657660.1

0.39231 4 2.259291

1.99740 — 3.426451




II. I¥ = (b, a®> —a+1, u—1)

(i) Arc colorings

as =
a9 =
ag =
az =

s )

(ii) Obstruction class =1

(iii) Cusp Shapes =4a +7
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
2 1
C1,C2,Cs u® +u—+
C3,C7,C8 u2
Co
C4 w—u+1
6 (u+1)?
2

€10, C11 (u—1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4 y2+y+1
Cs
C3,C7,C8 y2
Cy
2
€6, C10, C11 (y—1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—=1C8S) Cusp shape
u = 1.00000
a = 0.500000 + 0.8660251 1.64493 — 2.029881 9.00000 + 3.464101
b= 0
u = 1.00000
a = 0.500000 — 0.8660251 1.64493 + 2.029881 9.00000 — 3.464101
b= 0
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

1 (u? 4+ u+ 1)(w™ 4+ 20 + - = 3u+1)

€, C5 (u? +u+ 1) +18u* + - +u+1)

c3, C8 u2(u50+u49+~~~+4u74)
4 (u? —u+1)(u® 4+ 2u® + - = 3u+1)
6 (u+ D)W 4 3u®® + -+ 9u? — 1)

e w? (u® — 15u* + - — 104u + 16)

C10,C11 ((u— 1)2)(u50+3u49—|—-~-—|—9u2 — 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1yca G +y+ D)@+ 18y 4+ +y+1)
Ca, C5 (12 +y+1)(y°° + 30y +--- — 119y + 1)
C3, C8 v (y*° — 15y + .- — 104y + 16)
€6, C105 C11 (y — DH (W —41y* +--- — 18y + 1)
cr,Co v (%0 + 37y 4 .. — 3360y + 256)
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